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Question 
.... Can cause Erosion 
 

Answer 
tillage 
 

 

 

Question 
..... Is not a tillage practice 
 

Answer 
bush clearing 
 

 

 

Question 
Grading and terracing are done on a 
 

Answer 
slope 
 

 

 

Question 
........ Is not an impliment for bed preparation 
 

Answer 
thresher 
 

 

 

Question 
........ Cause litle injury to the corn 
 

Answer 
Spike tooth harrow 
 

 

 

Question 
Tillage facilitated all exept 
 

Answer 
erosion 
 

 

 

Question 
..... Is not incorporated into the soil Through Tillage 
 

Answer 
rocks 



 

 

 

Question 
.... Can be a method of pest control 
 

Answer 
tillage between rows 
 

 

 

Question 
All except........ Benefits from improved soil earation 
 

Answer 
weed 
 

 

 

Question 
.... Is an equipment for making ridges 
 

Answer 
Ridgers 
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